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BE HBH Y = @& 69.6 8.4 78 ( 43 35 )
2 H B = & 70.0 18.0 88 ( 48 40 )
3 B O 8 E 70.4 9.6 80 ( 41 39 )
4 fi1 H £ £ X BB 70.8 7.2 78 ( 41 37 )
56 B m B R 71.0 6.0 77 ( 38 39 )
6 & B — 71.6 14.4 86 ( 41 45 )
7H K E E R 71.6 20.4 92 ( 45 47 )
8hI A& B 4 F 71.8 19.2 91 ( 43 48 )
off & Lk B =B 72.0 12.0 84 ( 42 42 )
0 & B B — 72.2 22.8 95 ( 48 47 )
1567 & =B T — BB 72.6 8.4 81 ( 41 40 )
20 B HE B 3 73.0 12.0 85 ( 47 38 )
251 B OB 8 F 73.4 15.6 89 ( 46 43 )
30 K R OB OE 73.8 13.2 87 ( 40 47 )
350 M OB OB S 74.2 4.8 79 ( 40 39 )
406 M B EHTF 74.6 14.4 89 ( 46 43 )
45 B K — BB 74.8 13.2 88 ( 43 45 )
501z D] I Y S - S— 75.2 16.8 92 ( 45 47 )
554 /NIRRT 75.4 15.6 91 ( 42 49 )
601 = N = = 75.8 7.2 83 ( 40 43 )
651 M B F # 76.0 24.0 100 ( 49 51 )
706 B B B = 76.2 4.8 81 ( 40 a1 )
7560 E @ F = 76.4 15.6 92 ( 44 48 )
801iz B ZE =& 76.8 19.2 96 ( 54 42 )
85f1 AN H 3h = 77.4 27.6 105 ( 51 54 )
0f  # W & — 77.8 19.2 97 ( 51 46 )
o5f7 Il i 3h f= 78.0 12.0 90 ( 49 a1 )
1006 & Nl % 8 78.2 22.8 101 ( 50 51 )
1106 A I8 79.0 36.0 115 ( 55 60 )
1206 &= ¥ = % 80.0 36.0 116 ( 58 58 )
1306 + M K 82.2 28.8 111 ( 56 55 )
14060 H Lt @ 87.2 34.8 122 ( 68 54 )
BBE # # = N 96.0 36.0 132 ( 67 65 )
BGE B % BH B 77 ( 37 40 )
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